
(cont.) 

 

Q5. Write the correct Roman numerals on the dial of the clock 

given alongside.                       

                                                                              
 

Q6. Write the predecessor of the following in Roman numerals:- 

 

(a) XXIV= 24 

Predecessor = given number − 1  

    = 24 − 1  

    = 23 

Therefore, the answer is 23 = XXIII 

Q7. Write the successor of the following in Roman numerals:- 

 

(b) XIV = 14 

Successor = given number + 1  

 = 14 + 1  

 = 15 

Therefore , the answer is 15 = XV 

 

H.W 

(b) is homework  

H.W 

(a) is homework  

Solution5:- This question is homework . 

Do it in your book.  



 

  

 

General Instructions:- 

1) Do this project in your classwork copy neatly and in a good 

     handwriting. 

2) Write the full question along with its answers. 

3) As it is the Maths Project so you are requested not to stick any 

     Stickers in the copy. But yes you can use the coloured tape as the 

     boundary of the project to make it attractive. 

 

********************************************************* 

The following table shows the areas of the ten largest states of India. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

State   Area(in km sq.) 

Gujarat  1,96,024 

Chhattisgarh  1,35,191 

Rajasthan  3,42,239 

Tamil Nadu  1,30,058 

Andhra Pradesh  1,62,968 

Maharashtra  3,07,713 

Karnataka  1,91,791 

Odisha  1,55,707 

Uttar Pradesh  2,40,928 

Madhya Pradesh   3,08,245 



Study the table and answer the questions that follow:- 

 

1) Write the area of Madhya Pradesh in word form. 

__________________________________________________________ 

 

2) Write the area of Odisha in expanded form. 

__________________________________________________________ 

 

3) Arrange the states in descending order on the basis of their areas. 

__________________________________________________________ 

__________________________________________________________ 

 

4) The area of which state has 9, both at ten thousands place and tens 

     place? Also write the difference of the place values of 9 at these two 

     places in this number. 

__________________________________________________________

__________________________________________________________ 

 

5) Round off :- 

(a) The area of Maharashtra to the nearest thousand. 

_________________________________ 

 

(b) The area of Gujarat to the nearest hundred. 

__________________________________ 

 


